

Two Kids Promotional Products

RECOMMENDED

ESTIMATE for Palm Harbor Main Street Association Assorted Items

SHIPPING ADDRESS

Kristina Garcia

BILLING ADDRESS

Kristina Garcia

PROJECT # 2203

TERMS

Credit Card

ESTIMATE#

2507

CUSTOMER PO

IN HANDS DATE

Feb 28, 2025

CURRENCY USD

Vision Grip Pen (Digital Full Color Wrap)

Keep your idea of success in sight with the help of the Vision Grip Pen! One of the industry's highest valued wide body pens, it's accented in bright chrome trim and features our SimpliColor® printing process. This gives you one of the largest one to four color process imprints in the market. Our gel-like Eversmooth® hybrid ink gives an extraordinary writing experience in black and blue ink choices for this plastic pen. 4 color process full wrap.



ITEM	QTY	PRICE	AMOUNT
Size: TBD - Color: TBD	150	\$1.13	\$169.50
TOTAL UNITS	150		
TOTAL			\$169.50

BEST Full Color Can Coolie

Show your party guests that you're the coolest company around by handing out this promotional can cooler beverage holder! Made from premium quality 1/8" thick, open cell econo foam, this beverage insulator coolie is available in an assortment of stylish colors and provides great insulation and absorbs condensation. It can be customized to your liking with a four-color process imprinted logo, company name, event title or any information you want to convey. A second side and bottom imprint are also offered. Keeps drinks cold in summer and hands warm and dry in winter! Great for all seasons! Ideal for sporting events, summer block parties, corporate giveaways, tradeshows and much more! Full Color, All Over.



Product image for reference only. Click to enlarge

ITEM	QTY	PRICE	AMOUNT
Size: TBD - Color: TBD	300	\$1.65	\$495.00
TOTAL UNITS	300		
Shipping	1	\$50.43	\$50.43
Setup Charge	1	\$45.00	\$45.00
TOTAL			\$590.43

10' Commercial Grade Steel Frame Tent Kit

10' x 10' Commercial Grade Steel frame (white powder coated, 1.0mm gauge, and ABS connectors) with the premium wheeled bag. Legs feature automatic push buttons for height adjustments. Canopy with full color dye sublimation printing on 600D PU-coated polyester. Two double-sided 11ft feather flag banners with pole, cross base & water weighted bag. 6ft full color dye-sublimated table throw. These Packages Can Make Your Brand Standout at Any Event! Comes with a wheeled carry bag for easy transport! 10' L x 10' W Full color, full wrap.



ITEM	QTY	PRICE	AMOUNT
Size: TBD - Color: TBD	1	\$609.73	\$609.73
TOTAL UNITS	1		
Setup Charge	1	\$70.00	\$70.00
Shipping	1	\$70.74	\$70.74
TOTAL			\$750.47

Polyester Banner 4'x6' fabric

Polyester banners 4'x6' are full color wrinkle resistant, fire retardant, and direct to fabric dye sublimated on premium quality polyester. They are digitally printed (material starts off white and we print to any color needed). Material is 240 grams / 8.44 oz. Fully washable premium quality polyester. Pole pockets or standard grommets are included, can be sewn to a point "pennant style". This material is great for school/gymnasium banners, parade banner, indoor pole banners. 4' W x 6' L



TOTAL			\$354.49
Shipping Charge	1	\$20.49	\$20.49
TOTAL UNITS	2		
Size: TBD - Color: TBD	2	\$167.00	\$334.00
ITEM	QTY	PRICE	AMOUNT

Signicade Deluxe A-Frame Kit (Single-Sided)

Measuring 27" x 38.5" x 19", this deluxe A-frame is a larger version of the classic Signicade. Its plastic frame is maintenance-free and weather-resistant, making it perfect for outdoor use. Each single-sided signboard is constructed of 4 mm corrugated plastic, and the frame can be filled with water or sand for stability. The durable plastic construction prevents rust and splinters. It folds flat for transport or storage and features a convenient molded handle. Signboards slide in and out for easy graphic changes. One-year warranty.



ITEM	QTY	PRICE	AMOUNT
Size: TBD - Color: TBD	2	\$216.50	\$433.00
TOTAL UNITS	2		
Setup Charge	1	\$20.00	\$20.00
Shipping Charge	1	\$246.32	\$246.32
TOTAL			\$699.32

Questions about this estimate?

Kim Bulinsky kim@twokidspromo.com 824 Crystal Drive Palm Harbor, FL 34683 United States

SUBTOTAL	\$2,564.21
TAX - FLORIDA :	\$179.49
TOTAL	USD \$2,743.70

QUOTE #2





Alice June Graphics 1397 22nd St. N. St. Petersburg, FL 33713

727.820.9000 sally@alicejune.com alicejune.com

TO: Kristina Garcia Palm Harbor Main Street Association

ITEM	SPEC	PRICE EACH	TOTAL
REGYCLING EVENT www.365earthcom	10' x 10' full color custom tent Heavy Duty aluminum hex frame 6 oz weatherproof tent fabric - dye sublimated Carry bag included	\$895	\$895
Front	FITTED CLOTH 8.8 oz tension fabric fitted table cover Full color dye sub - all over print Sized to fit 6' collapsible tables	\$275	\$275
(th. Table Cover-3 sided(open-back)	OR TABLE THROW 8.8 oz tension fabric table cover Full color dye sub Fits standard 6' tables Open back for sitting behind table during exhibitions	\$179	\$179
Front Single Sided Print Thru	14' Outdoor flags - Single-sided Dye Sublimated 4 oz polyester mesh flag material Fiberglass and aluminum pole set Ground stake base Withl carry bag	\$174 x 2	\$348
Special Control of Con	2 Sided Sidewalk Signs Changeable 4mm Coroplast inserts/White frame. Large Signicade® Deluxe (24"W x 36"H inserts)	\$269 x 2	\$538

ITEM	SPEC	PRICE EACH	TOTAL
Generic, NOT Koozy brand	IMPRINT AREA AND METHOD 3"W x 3" H • Wraparound: Not Available 1 COLOR IMPRINT Standard Silk-Screen Colors APPROXIMATE SIZE4" H Laminated Open Cell Foam Folds Flat For Pocket Or Purse Storage Production time 7-10 days	\$1.98 x 300	\$594
	"DART" Pen Minimum Quantity 250 One color print Standard Silkscreen colors	\$1.38 x 250	\$345

Subtotal \$3,174.00

50% DEPOSIT AND APPROVED ARTWORK STARTS JOB.

PRICES INCLUDE DELIVERY TO PINELLAS COUNTY LOCATION.

NON PROFIT CERTIFICATE NEEDED TO WAIVE SALES TAX.

ESTIMATED DESIGN/LAYOUT FEE FOR ALL ITEMS: \$250-300.

WE CAN PROVIDE DESIGN TEMPLATES IF NEEDED

ALLOW 7-10 BUSINESS DAYS FOR DELIVERY

Any changes is sizes, quantities or other details will require a re-quote.

Total - \$3,424.00